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Section 15.3 - Stepped-reveal answers, Exercise 15.3B, Questions 4-6

4 Analtimeter works on the principle that altitude is a
function of atmospheric pressure. When the altitude is
a metres above sea level, the air pressure is P units, and
a=54098-81555In P

a What should the altimeter read at the top of Snowdon where
the pressure is 665.3 units?

At what rate is the altitude changing as the pr
changes (in metres per unit) when the pressure is

700 units? Show your working.

What is the rate of change of altitude with pressure, in
metres per unit, when a walker is 1000 m up? S|

working.

54098 - 8155.5 In(665.
=10¢

Altitude is 1085 m
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